This question paper contains 3 printed pages.]

Your Roll No. ............c....
2333 A
M.A/TI
HISTORY—Group C - Course 13
{Modern India 1947-1964)

Time : 3 Hours Maximum Marks : 75
(Write your Roll No. on the top immediately

on receipt of this question paper.)

Note : Answers may be written either in English or in Hindi; but
the same medium should be used throughout the paper.
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1. How far was political accomodation responsible for the failure of

separatism in either Nagaland or Tamil Nadu?
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Why was Congress Initially opposed to the linguistic

re-organtsation of States?
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How crucial a factor was reservation in empowering the backward

classes in peninsular India?
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Was the emphasis on heavy industry ir; the five year plans a case
of misplaced priorities?
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Why did scheduled tribes gain a lot less than scheduled castes

after independence?
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What led Congress to adopt the Kamaraj Plan?
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Why did the aftermath of partition affect north India more than the

south?
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To what extent was the 1962 India-China war a consequence of a

foreign policy failure on Nehru’s Part?

1962 1 UHA-9M g Fai 7 Jo= A faRy S =1 foreeran
=1 Oiom a7 ?

300



